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Chapter
7.1 Solve Linear Systems by Graphing

Goal « Graph and solve systems of linear equations.
Your Notes

VOCABULARY

Systems of linear equations

A system of linear equations consists of two or more linear equations in the same
variables.

Solution of a system of linear equations.

A solution of a system of linear equations in two variables is an ordered pair that satisfies
each equation in the system.

Consistent independent system
A linear system that has exactly one solution

SOLVING A LINEAR SYSTEM USING THE GRAPH-AND-CHECK
METHOD

Step 1 __Graph _ both equations in the same coordinate plane. For ease of graphing, you
may want to write each equation in _slope-intercept form .

Step 2 Estimate the coordinates of the _point of intersection .

Step 3 _Check _ the coordinates algebraically by substituting into each equation of the
original linear system.
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Your Notes

Example 1

Use the graph-and-check method

Solve the linear system: 3x +y =9 Equation 1
x=y=1 Equation 2

Solution

1. _ _Graph _ both equations.
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To ease graphing,
write each
equation in slope
intercept form.

2. Estimate the point of intersection. The two lines appear to intersectat (_2_, 3 ).

3. Check whether (_2 _, _3 ) is a solution by substituting _2 _for x and _3_ for y in each
of the original equations. -

Equation 1 Equation 2-

Ix+y=9 x-y=-1

_32)+3 19 g3 A
9 =9+ -1 =-1v

Because (_2_, _3 ) is a solution of each equation in the linear system, it is a _solution of
the linear system .

{,



HINT: On the side, rewrite equations in
s\ope -infercepy form! <

Your Notes @ checkpoint Solve the linear system by graphing.
I 1.2y +4x =22 =il 2.4+ 2y =6 =43
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LE;SGN Practice B

. For use with pages 426—434 .
HINT: Plug the ordered pair
Tell whether the ordered pair is a solution of the linear system. into both equations.
1. (4,1); 2. (=2 1) 3. (4, -3)
x+2y=6 Sx —2y=-—12 —-3x+2y=-—18
3x+y=11 x+3y=1 6x—y\=27 (2)=q7]
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4, (—4, —6); 5. (—4,3); G (=2,<5);
3x—y=6 4x + 3y = —12 —x4+y=-—3
—x+2y=28 x+2y=-6 —x+3y=—13
g ’ p L ';.". 4 \ 5 l), {
' l -\ d =
A 4.4
¥ \ "
\ | g
: S
Use the graph to solve the linear system. Check your solution. g
7. x—y=28 P 8. 5x—y=-9a/1,'."'_ 9. 2x+3y=2 BY 5
D) B - |\ \1/ - [— '))1-.‘1" ) S
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Name

LESSON

10.3x — 2y =16

4[ i of _,-J

5x+y=18

y _\ ’
L, 3 \\ y
¥ \
T/ \\
-5

\
£ \
£ !j,'l

Practice B coines
1.1 For use with pages 426434

M. 2x—y=-13

12. 6x+2y=28
[ ) ’
y+3x=-12\ J{))

=3x+4y=16
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Solve the linear system by graphing. Check your solution.

13. y=3x .F\f,
y=4x—-1 ~
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LESSON

1.1

Practice B omines
For use with pages 426434

A {; (=
19. 3x+2_]i,«'=3 ) 20. x—y=09 f‘olf-“,

Sx+y=—9vy--G-q 3x+2y=2 ey 5x—2y-f‘§—x4 \/
MT ~T P BT TS
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=4 Vo E%de) N CEl \ _
22. Hanging Flower Baskets You will be making hanging flower i
baskets. The plants you have picked out are blooming annuals s 36
and non-blooming annuals. The blooming annuals cost $3.20 530 E 32
each and the non-blooming annuals cost $1.50 each. You bought .‘1'; "'I' @ 281
a total of 24 plants for $49.60. Write a linear system of equations .| § 244=TT%
that you can use to find how many of each type of plant you d fu.’,\ 8
bought. Then graph the linear system and use the graph tofind 3 i 5
how many of each type of plant you bought. © . fl'} -!j\r 2 1§‘z u [ R
[y | | . o A b 0 2 4 6 8101214x
A i 1%y + 5257 2 NUY _‘_‘v‘_ AL e Blooming annuals
) DX 5' ON = 444¢ 0 _rm__;{_
23. Baseball Outs In a game, 12 of a bascba.ll team’s 27 outs y
were fly balls. Twenty-five percent of the outs made by infielders £ 32
and 100% of the outs made by outfielders were fly balls. = 28.,\
€ 2
a. Write a linear system you can use to find the number of outs E 20 \\\
“made by infielders and the number of outs made by outfielders. ot 3
(Hint: Write one equation for the total number of outs and ® 12 —
another equation for the number of fly ball outs.) E 8 =S\ —
| e\~ \ . S 4 : "h\\‘“m,_
/-{ AN = ol | | o 5 =
. | ° 0 4 8 121620 24 2832 x
3 Ve _fr il 7 f Outs made by infielders

b. Graph your linear system.

c. How many outs were made by infielders? How many outs
were made by outfielders? ]
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7.4 ELIMINATION USING MULTIPLICATION #

METHOD . THE BEST TME TO T{SE T:{HIS METHOD
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Ex1: (2x +y=-9
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Your Notes
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Y &Y solve Linear Systems
by Multiplying First

* Solve linear systems by multiplying first.

Y Multiply one equation, then add
Solve the linear system: 3x — 3y = 21 Equation 1
' 8x + 6y = —14  Equation 2

Solution

1. Multiply Equation 1 by 2 so that the coefficients of
y are opposites .

3 — 3y =21 x 25 Bx—6y= 42

8x + 6y = —14 8x + 6y = —14
2. Add the equations. 14x = 28
3. Solve for x . xX= 2

4. Sub‘sﬁtu'te'_2_ﬂ for x in either of the original
equations and _solve for y. -

3x—-3y=21 * Write Equation 1.
3(2)—-3y=21 Substitute 2 for x.
y=_—5  Solvefory.
The solutionis (2 , —=5).

CHECK Substitute 2 forxand —5 fory inthe

original equations.
Equation 1 Equation 2
3x -3y =21 8x + 6y = —14

3( 2 )-3(-5)221 8 2 )+6( -5)2-14

- 21 =21/ —14 =-14/

®
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Your Notes

\.

Multiply both equations, then subtract

Solve the linear system: 3y = —2x + 17 | Equation 1

3x + 5y = 27 Equation 2

1. Arrange the equations so that like terms are in

Solution
columns.
2x + 3y = 17
3x + S5y = 27

Rewrite Equation 1.
Write Equation 2.

2. Multiply Equation 1 by _3 and Equation 2 by 2 so
that the coefficient of x in each equation is the Ieast _
common multiple of 2 and 3,0r 6 .

2x + 3y = 17
3x + 5y = 27 3
3. Subtract the equations. -1y = -—3

4. Solve for y.

5. Substitute _3 for y in either of the original
equations and solve for x.

3x + 5y =

27

3x + 5( 3 ) =27

x=_4

The solution is (

4, 3).

Write Equation 2.
Substitute _3 forx.

Solve for x.

(] Checkpoint Solve the linear system using elimination.

i7x+2y—-26 2.5y =9x-8 |
4 N | % (20x — 5y =-10 " _20x + 1oy = —10 |
Homework 2 6) \T=3, =) 8% -loy= e
r“/al
/ ( 2. J'>
. .

4
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Name

=" Practice C
74 ‘Forusewimpagesﬁf—ﬁ?

Solve the linear systeni‘by using elimination.

1. —3x+5y=28 L}, ) . 2+ Ty=-—13 (L 03 4x + Ty = —43
1 8 e o i =
9x + 4y = 68 —3x+ 4y = -5 —3x+ 6y = —69
a. sx—6y=—14o(_ 5.40) 5. 4x+9=-53 , 6 —6x+12y=48 (6r
3x + 5y =20 NS . —e—dy=ia LR ~7x + 18y = 84
7. 3x+ 9y =27 (0 -,)) 8. —8x+5y=6, 9. 10x—8y =28 ,
i - ! {r .-1.\‘ 'I:If;'
14x + 6y = 18 ' 6x—3y=6 (bx g 12x+5y=92 ¢
10. 6x — 11y = —93 g N 11 —15x+4y-—-—2 (J 1>1z. 9% — 8y = —3
15x+13y=132(- "/ 13x — 14x — 12y = —6

Solve the linear system by using any algebraic method.

13. 04x + 0.1y = 0.7, j 14. 4x—3y=17 o 15. 1.5x+2.6y=—127 (ﬁr _ .)
x—y=3 ( 15x+y=9 2 —4.5% + 03y =219 (A
16. x+y=7 ( . 17. 4)_:':+;_}=—% /<] N\ 18. %x—iy=—% '
 —— . S PR ;Li‘l') (—L L)
P b { ) 5x2y—- 3\ f %x+%y=%— “ !/

19. Find the values of g and b so that the linear system has a solution of (2, 4).

ax—by=0 Equatlon 1 (] Q)
bx —ay=—6 Equation 2 D= |

20. . Lift Tickets Two families go skiing on‘_avSatL:rday. One family purchases two adult
lift tickets and four youth lift:itickets for $166. Another family purchases four adult
lift tickets and five youth lift tickets for $263. Let x represent the cost in dollars of

one adult lift ticket and let y represent the cost in dollars of one youth lift ticket.

a. Wnteahnearsystcmtbatrepresents&s situation. ”j’;;ﬁ)’ =1l

l{{fth%}? [\ it £57)
b. Solve the linear system to find the cost of one adult and one yo outin: 853
c. How much would it cost two adults and five youths to ski for a day?: u l g 4 o

21. Asian Cuisine A group of your friends goes to a restaurant that features different
Asian foods. There are eight people in your group. Some of the group order the Thai
special for $14.25 and the rest of the group order the Szechwan special for $13.95.
If the total bill was $113.10, how many peoplc ordered each dinner?

(5 ( I"l_' \(A |

22. Getting to School You walk 1.75 miles to school at an average speed r (in miles per H INT
_hour) Onthewaybackhomc you are walking with a friend and your average speed DISTVCE = > RATE « Tt
is5 r The round trip took a total of 90 minutes. Find the average speed for each leg

of your trip.

@ . | : Algebra1 -
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CONCEPT SUMMARY

For Your =

When to Use
When x-values are integers, so that
equal values can be seen in the table
2
5
AN When you want to see the lines that the
f3x—2y=2 equations represent

- . =1 4
. . 2 o1 M
Substitution (p. 435) y=4-2x When one equation is already so
. 4+ 2y =8 forxory -
Addition (p. 444) 4x +7y=15 When the coefficients of one variable
. o 6x —7y=5 are opposites
Subtraction (p. 445) = 3x+S5y=-13 When the coefficients of one variable
v .. 3x4y=-5 are the same
Multiplication (p.,;45‘l) 9x + 2y =38 When no corresponding coefficients are
- : 3x—5y=7 ; the same or opposites
| i .
Answer Key
Lesson 7.4
Practice Level C -

1.(4,8) 2.(-3,-1) 3.(5,—9)
4.(-10,10) 5.(—2,—5) 6.(6,7)

7.(0,3) 8.(8,14) 9.(6,4) 10.(1,9)
1.(2,7) 12.(=3,-3) 13.(2,—1) 14.(4,3)
15. (-5, —2) 16.(6,1) 17. (—% %)
18.(—4,4) 19.a=2,b=1

20. a. 2x + 4y = 166 and 4x + 5y = 263
b. Adult: $37; Youth: $23 c. $189

21. Thai: 5 people; Schezwan: 3 people
22. To school: 2.72 mi/h; Home: 2.04 mi/h

-
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7.5 Special Types of Linear Systems

Solve by Graphing

T Ar

Solution

System of Equations

]
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2x+y=2_
\ T oMY g
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y=—x+1
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\ System of Equations : _ Solve Ex._J.._wom:% . Solution
YRR o ey=Y
= D)
2x-y=8 -3y=H el
x-3y=4 \_+...,_,.,. =4

. ) w,FJ“L
Sx+y=-2
-10x-2y=4

[ _._ N\
T\
_\, 1D
6x+2y=3 " B0 SR E
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Pra ctlce C
For use with pages 459-465

Match the linear system W|th its graph Then use the graph to tell whether ‘ , ) ;
the linear system has one solution, no soluﬂon, or mf' nitely many :

solutions. L )
: i 5\

1. 6x+4y =

_f"
i Jy-'_.
! 2]
i
o " .
. . .’/ i
- 1 : ‘/ . X
. i
rai®

Graph the linear system. Then use the graph to tell whether the Imear '
system has one so!utmn, no so!utmn, or mﬁmtely many solutions.

‘4. 4y=3x+20y X35

k 4y +12 =5z -_;I},x--g
. NOVAT —
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wsson | Practice: C ' continved . _ "
15 For use with pages 459-465 ' : : g

. Solve the linear system by usmg substrl:ut:on or ehmmatlon.

10. —x+2y—-4 11 4x+3y—2 i i 12 x+8y—16'-
ixdy=de . v 2x+;y=1. M AL Al
AR )- oD ; |
13. '—-Zx_+ 5y=-10 1‘4..-*2.x+3y—— 2y—10x——8

Sy—2x =5 g/ ‘ x+2p=4" \> 2y—x— (*’
. o . I . )

: Wuthout sol\nng the linear system, tell whether the linear system has one

solutmn, no, so!utmn, or mf‘ nitely many so!utrons

16, 4y=120-1 ;_\ 17. x+4y=3 - [° . 18 x4 3= 41"
2t y=-1 1 dreoy=4 T x—y=s hj-
19. S5y —4x=3 ; "'-‘20__."y—%x=—2'-.l T .21."‘3y+5x=1 ,
'10y-8x+6 o l"x-,—2y=8 Il E : I.—SI—3y—~1 /
22, 2y—x=3, - . 238 -d+d=-4 2 4y= =543 (¢
x4y = i -..'.'3':2" ' ' 5.0=3 .V
2x+y=6 . 4x + y = A ' 2_y+2x )

25. Restaurant Sales The table below shows the number of each of the spemals that
' has been sold on a Frlday night and a Saturday mght '

a. Letx represent the cost (in dollars) of the vegetanan special and let y represcn‘t

the cost (in dollars) of the chicken special. Write.a hnear systcm ‘that mode¥s thed IX 93, =/

situation. .
b. Solve the Imear system. [ \of § o ‘ .
c. Can you determine how much each kind of spec1al costs? Why or why not'? N .;'; Ly

. .

26. Retail Prices Two emplcryees ata store are given the task of puttmg price tags on 1tems ik
One person starts pricing items at a rate of 10 items per' minute. The second person starts.
* 10 minutes after the first person and prices items at a rate of 8 items per minute,

a. Letybethe number of items. priced X mmutes after the ﬁIst person starts pricing.
Write a linear system that models the s1tuahon

b. Solve the linear system.

c. Does the sqlution of the linear system make sense m the context of: the problem?
Explam

i
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Your Notes
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Solve Linear Systems of

" Linear Inequalities

- Solve systems of linear inequalities in two
variables.

VOCABULARY

System of linear inequalities

|
¢
[

1I I.-'.\\l ; -'.." ‘IJ"|_... '\JL,;\_ ll._\\_‘l [\—- ".‘- ‘ 1 |I. | |

Solution of a system of linear inequalities

"I_1 ( e ¥ (10A J

Graph of a system of linear inequalities

eV )i |

I . J "y

GRAPHING A SYSTEM OF LINEAR INEQUALITIES

Step 1 Bva y"?\ each inequality.

Sfep 2 Find the |0\ of the graphs. The
graph of the system is this intersection.

®
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Your Notes

e T LB B Graph a system of three linear inequalities

Graph the system of inequalities.

y>1 Inequality 1

xX<4 Inequality 2

3y<6x —6 Inequality 3

SoIYltLif:vﬁ ‘\

Graph all three inequalities in the same coordinate plane.
The graph of the system is the |{[1# (/101 shown.

The region is (;\>0oyC  the line y W
y =1, s -
The region ispy) and 1y e 3 -
{1 of the line x = 4, P il ik e
The regionis [\ the line ) B SN 2
3y = GX - 6. V4

- . 1 V

o Checkpoint Graph the system of linear equations.

L X +ysSB\ £y +5 ?\ y ;7
y<x+3 54
G c% %
= _‘1 3 T
V4 N M
2. x> =2 A
y<4 4 8
3x + 4y < 24 2N
' .. : ]\ y c (: w+l ‘:‘_ -1.10 . 5 \
‘ 6 -
7

4 Lesson 7.6 = Algebra 1 Notetaking Guide Copyright © McDougal Littell/Houghton Mifflin Company.



Your Notes

Write a system of linear inequalities

Solution

Inequality 1 One boundary
llne for the shaded region

is H" Q Because the
sha ed region is (1 ./ (  the

Mh o line, the inequality
is \| Z—

Inequality 2 Another boundary

-

Z -0 Inequality 1

1 \Z L %=\ Inequality 2

@ checkpoint Write a system
the shaded region.

line for the shaded region has
a slope of |\ and a y-intercept of l . So, its equation
. Because the shaded region is \p

line, the inequality is\) £ Y~

Write a system of inequalities for the shaded region.

The system of inequalities for the shaded region is:

of 1nequaht|es that defines

" 3. Y
5/‘

(f
Homeweork

T,

4. (1.p

/1l

A
7

Copyright © McDougal Littell/Houghton Mifflin Company.
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“tch the solution to each system of inequalitiés.
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Name

LESSON

Practice C

For use with pages 466—472

Tell whether the ordered pair is a solution of the system of inequalities

1. 01 [\

U

)

2. (0,-1) \k\

]

¥

Match the system of inequalities with its graph. :
5. x+2y2-4 Y2 3’
3x 54 =2 4 I

4, 3x+2y ?_2

y>4-—x

g e

AI \\

¥

!

_2 =,
> 2% Aol

(©

Graph the system of inequalities.

7. X2=2

y<5
A

i
~

-+

A

v
Algebra 1

\M‘

Chapter 7 Resource Book

x+y<4-X% @
B.
1"
6 | x
<
8. x<0
- Lol
A
3.\'
[a.%
N :

1-3 ]-1 . i
o~ 1 >
i
\V

11. x>4,x<8
y22x+ 1 A
N A
y d/
=120
i R
47
—1';4 E 12 | x
' 1
v Vv

—o

3. (1,4)

\

s

)
6. 3x—2y<4 V2 3

9. 3x+y<0 <X
4x—y<1 Y= dx |
A

N fy |

L

—G ]

12.

Vv

Copyright © by McDougal Littell, a division of Houghton Mifflin Company.



Name Date
LE“E" Practice C :oinved
1 For use with pages 466—472
Write a system of inequalities for the shaded region.
13. 7 2 1 ¥ 14. ¥y 15.
i W 3
\ & - \ \| a 1 I '7 X
= X
\ } >0
=
16. gy 14
1
Va0 : .v
(<, N¥ | &
.;[ > -\ t = !2 o
= } 6 x
L, {" s b
~19. Exercise You work out at least 10 hours a week, but no more . i |
(il than 15 hours a week. You divide your exercise time between 14 :
a swimming and running. This week, you want to spend at least 12— = -
“ twice the amount of time on swimming as on running. Write and £ 1017
< : s : £ s A
graph a system of linear inequalities that gives the amounts of £ 8 < E
Jd time you spend on each different kind of exercise. Then give two 3 o S
s possible ways you can exercise. = 10 4 Z
B > S 215 .
i < O f A I ok .
£ L5 0 2 4 6 81012 14x
= Running
2 20. School Play The tickets for a school play cost $8 for adults and "
= $5 for students. The auditorium in which the play is being held can (
;§ hold at most 525 people. The organizers of the school play must g 500 =
S make at least $3000 to cover the costs of the set construcuon, £ 400 AN
= costumes, and programs. X =4 E 300 —— NN
z La] '5 200 AVAN
s, a. Write a system of linear ineq mes for the numbcr of each @ 100 - \_\—\
g type of ticket sold. ' - ;/ ; f_”' = TR R
g_ b. Graph the system of inequalities. P Adult tickets
e c. If the organizers sell out and sell twice as many student tickets
£ as adult tickets, can they reach their goal? E tplam how you got 1. ;
& yOur answer. ~ O #0925 5\ 4
S fN=e 4oL 4 1750 2
!
@ Algebra 1

Chapter 7 Resource Book




PO &3 T Py
O YA ol LRI AL — ﬁd@hj)
= Fof Sugdent fickds o et et

%\/”QDO%XJW/ OO %/QOO

HXJC}Y QOO Hy _\/ (LH)O y)4a>/ qoo
_9\7‘
Y4y H00 \Hz@
V4350400
X =80

@) Y= #of M 9vede ficeets | oo /fm%
o Y= of g gad(’ﬂcuﬁs ATD  SMgrage

X % \/ “)OD — X" \/ 550 5@ 8\/ dc)o
DY 3= AASO L etes )U 0

ON 5 |
e y2E0)
v L pp0=500
¥ =300



DY awiout of (07 SoIuIon O o 07 it
= vt of 30% oo | 10wl of 4 O?Uu %‘%’@

N4 500 — WY 00O .IDX(-LaOJ\é-
0¥, 30" = 500(-13) e Wt 10(500-Y)+, 20V = 0
,|o><+.-&o\/ 00 VB S0 10y+.30Y-D

A0 \/ - 10
X\ = \/:\00
XH00-900
X=H00

1) = Ca @ o (40 gyw& ok B> coppr”
- (L@P}ﬂ g0 c@(m (of e CPPY

} (piownd ( 507
QX RNk 460 —
L4y =100 —7 Xﬁ\/ id\)/O A5 1000-y)+ BOY F 48U

Gonk A= U5 (wo)  — oy A% o= 45D

OB EDN H5() 550 +. 29y 7450
220 =300
X\ 100 ¥~ 30
Y400 = 100
\=000



5 = ( ~ 4ot vd PR
O A SRR %[fﬁam:;(ffmmk‘{ St i

B} = It X 7=.90X
178= X IF youdve viding T ded of (£S5,
oy 41 n & € ocmore,

P Sk

Y= #of finud she goes fo i gy
'E amnt of mony
Z B0+ X q00rK=30r5% I Lﬁw‘rﬁ qong 1 116 "
170 = 4¥X Hq Auves ess pay T

V= 3p+ X
Ha.n = X B 10 4D or more; Ay
~ 8300



' : -+ S
@ 31/45 34 s U»,%:?l |
lrs-al = Lt ’5(5;&23 o LL;\A q 43|
4-S
r,
<) ’;)jg"‘”‘; 751 Ssacg LS
OSzdl- SS = a($H)- & i )
55 =5133-8 LL,_gaEf’ M
5S - 05424
2S= a4
§- ¥
3) L=
[45-3L-30 = S+Q0= AL [~8S ]
S+a0=a(ast)  [=a(wdt)
SHa0 ~ YgHa (= 12+l DBS
18=25 R
(=S

. f :

@(&HB{ -3l riqtq3  dri3e=3) \‘apwﬂ’i |

(4 = - g Gv+3(1)=31 | -
A 3 6E789) 7 oV - %h;t BE; v 3003 1 corpas 15
v = 10
. L =3
) SiL=HSs > =% 4830 =38
-5 D a(%5)- S'ﬁ; - 2(0)
“’?;;;% e bHE
S

ag



{{

Name | : - __ Date

Algebra I - . Word Problems - Chaprer %

1) In college, Ms. Nowalinski and her teammates were able to sell 400
tickets for their “Dancers for Cancer” benefit. Adult tickets cost $4 each
and student tickets cost $2 each. How many of each type of ticket did she
sell if her team raised $900 in ticket money? AUt

2.) Montgomery Middle School is holding a dance for the 7™ and 8™ graders
this Friday and 550 students bought tickets o attend.: In order to get
more 8™ graders to attend the dance, their tickets only cost $3, while ¥
grader paid $5 per ticket. If ticket sales brought in $2250, how many gt
graders went to the dance? 300 T Qradt

3.) You are doing.a lab for Mr. Chesbro and one of the materials you will
need is 500 milliliters of a.12% saline solution. This is unfortunate because
you only have 10% and 20% saline solutions. How much 10% solution could be
mixed with the 20% solution in order to obtain the 500 milliliters of 12%
solution you need? ‘ [/ O m) of
OO W\ o

4) Ms. Parker’s classes are working with copper. In her materials cabinet,
she has a metal alloy that is 25% copper and another metal alloy that is 50%
copper. Ms. Parker asks you to make 1000 grams of a metal alloy that is 45%
copper. How much of each of the 25% and 50% alloys will you use? '

00 G
b.) The _8""l grade is going on a class trip o the amusement park and each
student has two different options for purchasing tickets to ride the rides.
One option is to pay $8 to get in and then 10 cents per ride. The other :
option is to pay $1 to get inand then $1 per ride. Decide when each option is,
appropriate so you can help everyone ﬁguré. out which package to buy. |

6.) Ms. Nowalinski is joining a gym and has two options for a 6 month
membership. One option is to pay $200 up front and then $1 every time she
used the gym. The second option is to pay $30 up front and then pay $5
each time. Which is the better option? ' ,

¢ :
\J

D)

.L". Vi [ B

] vt I-f., W \".



Chapter 7 Word Problems Date:

(Numbers and Tickets) Item# _______._

Example 1: Find twq numbers whose sum is 64 and whose difference is 42.

X4y -4 SAVEL 2 S S R

ol \ \
y L i. Y

- Example 2: Twice one number added to another number is 18. Four times
the first number minus the other number is 12. Find both numbf;rs.

Qx4yﬁ\gf%5%?7 §f }f?"ﬁ

r .k . N=(-3y415)= 12
RV . ] s N - s ! ' . s
_#] \‘ = \‘/{ - ! L-))' \/ = ‘j '(-[ ‘ /:, !' Il\{\ i }‘. \J - {‘ = 'I o
x= 30
. V==
Y = ,l A A 1I ‘..".J_ ’ \ J" D
/| - . & O\
™ | A ( C 5y 14| O ,ll S * l}; I!
f\ L e

i
Example 3: Three times one number equals twice a second number. Twice
the first number is three more than the second number. Find both numbers.
Zsp = 3 / 2= 3 (a3 -3) By =3 k./
N . VW2 - X=4Y¥- o )=y
N J + A= w.’é- \/ F)\ A

X=(, g- \/



Example 4: The length of Sally’s garden is 4 meters greater than 3 times the
width. The perimeter of her garden is 72 meters. What are the dimensions
of Sally’s garden? '

Example 5: In college, Ms. Cardozo and her teammates were able to sell 300
tickets for their “Serve to Save A Kidney” Volleyball Tournament. Tickets
sold in advance were $3.00 and tickets at the door were $4.00. How many of

each type of ticket did they sell if the team raised $1,040.00 in ticket money?
) : [ L"-J-; u'l
I

Example 6: In college, Ms. Nowalinski and her teammates were able to sell
400 tickets for their “Dancers for Cancer” benefit. Adult tickéts cost §4.00
each and student tickets cost $2.00 each. How many of each type of ticket
did she sell if her team raised $9(0( in ticket money? ‘
LD [ =

)
A



Chapter 7 Word Problems Date:
(Mixtures and Solutions) Item # _________

Example 1: How many pounds of cashew nuts that sell for $2.00 per pound

should be mixed with peanuts, which sell for $0.80 per pound, to make a 10-

pound mixture which sells for $1.28 per pound?
' j i~ - 5Y " § / )

Exéinple 2: Susan wants to mix 10 pounds of Virginia peanuts that cost
$3.50 a pound with Spanish peanuts that cost $3.00 a pound to obtain a

mixture that costs $3.40 a pound. How many pounds of each type of peanut
should she use? .

Example 3: Tanya has $235.00 in five-dollar bills and ten-dollar bills. If she
has 33 bills in all, how many of each type of bill does she have?

A EN - -\0D

i
49
i

Sl



P

.|.I| -J’: ;

Example 4: A lab technician has a 15% alcohol solution and a 35% alcohol
solution. She wants to make 100 gallons of a 29% alcohol solution. How

much of each type of alcohol solution should she use?

(X / ~ [5X-15Y= 192
10O

- -

b4 15 ..;jf-t('!'?f"ﬁ! 16\3{:{*_) /

\d.I5%.35)-29) Q0Y = 4OV
>/ =70
or 25

Example 5: EJH Labs needs to make 1,000 gallons of a 34% acid solution. i
The only solutions available are 25% acid and 50% acid. How many gallons of

each solution should be mixed to make the 34% solution?

J =t oF o0 DDy FHHO00) = a\_ﬁ?\: d .
;I.' . ,I J_{,\{ ‘ }5>< ! ' 6;\}\\ j - ~ L}‘L:)) .,‘)ll a/ : Gj

@



” What Kind of | llonkey [an Fly?

=

S

Solve each problem below using a system of two equations in two variables. |

Find the solution in the answer column and notice the letter next to it. Write i
this letter in each box that contains the number of that exercise.

@ Three times the larger of two numbers is equal to four émg‘&@&w%
times the smaller. The sum of the numbers is 21. Find "}3? @ 20 6 N
the numbers. : o\ -

—~1

N\ bt

Lo &

. pBEe g
@ The difference between two numbers is 16. Five times & /@ 18, 6 (4 :
the smaller is the same as 8 less than twice the larger. % &L

: ; | ? (M 11,10 §

Find the numbers.

O] ;};, (B $20, $35 §
@ The darger of two numbers is 1 more than twice the _ =\ ® 12 g ,/
- Smaller. The sum of the numbers is 20.less than three iﬁ , ’ <
times the larger. Find the numbers. ) ®) $1.35 S
2 Wi <
@ Two records and three tapes cost $31. Three records ’f | ‘ \: £ s
and two tapes cost $29. Find the cost of each record ;\_\ @ 14 {4_ ey
and each tape. V6 o &) : T,/ o
HEPE T Top __ A (P $1.50 :;
: ) (4 Y : -:\ ) ":
@ The sum of two numbers is the same as four times the % @ $8; $5 (N
smaller number. If twice the larger is decreased by the .\\ @ 24 8 ';/
. smaller, the result is 30. Find the numbers. 1 = ' -4
@ A group of students go out for lunch. If two hgve }_} @ -$5, $7 %.
hamburgers and five have hot dogs, the bill will be :/ \:
$8.00. If five have hamburgers and two have hot dogs, .‘\j @ 17 f_(,
jrh_e_zl blil will be $9.SQ.. What is thg price of a hartl&Lbﬁurger'?'/r ﬁm&ﬁﬁ.ﬂm\
@ The price of a sweater is $5 less than twics the price of a shirt. If four sweateérs
and three shirts cost $200, find the price of each shirt and- each sv}veater‘ :
‘A shipment of TV sets, some weighing 30 kg each and the others weighing
0 kg each, has a total weight of 880 kg. If there are 20 TV sets all together, 7 .
how many weigh 50 kg? o 20(WVs (4 5D ka V< s
A : : ) ' ' ) -
1214 18]%6]2 -5 72788

\ =~ _—
-
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\/f antt of 15% oluton | 100 ml of 5% \
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T4y 18D)  pYsy=-aed YRy <Ish
Bp1syTREa0y 7 B0XH5Y=3000 S0F =150
o230y .15y = 30) 5\=J5p  V7I°

X= 50

U4 X - ol 150 o0V o o 5%
2t of 5% 150 Wl of H5%

’5& AV 3@0) -5 \(»(6\/7"%11) XY =300
oy 30089 D W= TEL ¥+00 =300
15 Usy=T5) 3073090 X700
10 | Y =100

@_6 Yo awd of B © &, \ﬂ: 7,00004' Y% /
- vk 0 O] Eﬁ'ﬁw) or 4, \

KK - 19000) % €Y LoD MrYF o
DNERTER 1010 =/ qyedy = 101000 \(+6000 = 12000
""\/;5000 V= J00O
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N7 Ok 0 sawﬂs oF ¢4, | 2o SR

| .. = HO000 Y= g0
(X « = gooo) BNy
kdf,(jayhl)/g»;:w)) = v g\* 000 Aoo0 \=¢0o0

L= 30000 =303
X= 5000
(o) tteind oquedbvud. - Yevate oF pang

(‘l -"1'.] - 3y { /: (ot of W‘i\(‘d

rlgpo. (3) LD - .f))

28 (0=«
>§+/ 6}50 CYEISD [ plane : 130 mi fav

‘/(: BO+Y < 15D ind © 30 mi [l

% ’i/ : \} f=30

12 NG .'f('-'_""{'(.-"\- z > [ anL
\) W%‘%/{W}@)\ O.Dl[lw\.x Yoot of P

A S \/fv'a'[f Gt J{’J:_ﬁ(fmv]
- 1) 1§00= 1 ()
OO~y 45D
[\ (0D X1/ = (000
f. ? fl-" ) & r)!l!-' ;.j)DD
‘_ \/""l")
= 1050
L= 509



25 b at $3,
7E1b at $5

1=Ibpeeasm.5lb o
. ceshews’ y

120'mL of 25%.

" 80 mbof 50%_-

o
-y

o

&G m‘L of 30%
fOO l'nL cf 55%

,;a:

r-..v

200 n‘ﬂ.ﬂr 1'-'».%
]_Gﬂrzﬁ. .of 45%

$7000. at 8 peroerit,
$5000°at 8 parcsnt

G&. .

$300&‘.fn &t 8 percent,
$5000 &t 12 percent’

* 5?!

120 mifh, 38 mih

%‘

525 mifh, 75 mifh

60

61.

62.

63.

64.

65.

66.

67.

68.

Coffee mixture. A coffee merchant has coffee beans that sell fcr $3p p%f

(Ib) and $5 per pound. The two types are to be mixed to create 100 pounds r;i:
a mixture that will sell for $4.50 per pound. How muchofeachtypeofbeash b
should be used in the mixture?

u.‘ <6

l"?} "- .
Nut mjxture Pcanuts are selling for $2 per pound, and cashews are seumg for "
$5 per pound. How much of each type of nut would be needed to create 2 Ib
of a mixture that would sell for $2.75 per pound? -

Acid solution. A chemist has 2 25% and a 50% acid solution. How J:rn.u:h of
each solution should be used to form 200 milliliters (mI.) of a 35% acid solu-
tion?

Alcohol solution. A pharmacist wishes to prepare 150 mL of 2 20% alcoho]
solution. She has a 30% solution and a 15% solution in her stock. How much
ofeachshouldbeusedmformmgthedcmdm:xﬁm" il :

-

Alcohol solution. You have two alcohol solutions, one a 15% solution and one
a 45% solution. How much of each solution should be used to obtain 300 mL
of a 25% solution?

Tnvestment. Otis has a total of $12,000 investsd in two accounts. One account

pays 8 percent.and the other 9 percent. If his interest for 1 year is $1010, how
much does he hm invested at each rate?

Investment. Amy invests a part of $8000 in bonds paying 12 percent interest.
The remainder is in a savings account at 8 percent. If she receives $840 in in-
terest for 1 year, how much does she have invested at each rate?

Motion problem. A plane flys 450 miles (mi) with the wind in 3 hours (&).
Flying back against the wind, the plane takes 5 h to make the trip. What was

.the rate of the plane in still air? What was the rate of the wind?

Motion problem. An airliner made a trip of 1800 mi in 3 b, flying east across
the country with the jetstream directly behind it. The return trip, against-the jet-
stream, took 4 h. Find the speed of the plane in still air and the- Specd of the
jetstream.



Chapter 7: Systems of Equations
Word Problems: Extra Practice

. Ms. Cardozo sold 600 tickets for the high school play. If adult tickets cost $6 each and

student tickets cost $4 each, how many of each type of ticket did she sell if $2,900 was
collected in ticket money?

Define your variables: \{“ 0 ﬂi':'“ 1 1{”3 =i <fudent ket
Set up your e.quahon X+ \!’ LU I

4 = o) -y oY=~ 3 (mu G

by+ =900 ~7 UYiﬁhJ 3 q0

r,\',

solution: A0 aclu & IiLH'b; ) Sudeat ke

2. The sum of two numbers is sixteen. Three times the larger number equals the sum of
four times the smaller number and six. Find both numbers.
, . ( aeioe M I PO
Define your variables: -, A0\ L= 10GEy *
S Set up your equation: L=l = S+=ll ¥ 3L=HS+ ,-
| A =4S4 0 L= l-S 3w =gt
) B L [(’ Q\ (o
\)‘I L i “\1{:‘ "‘h’_‘\l :—7 §
btL=\b (=S
L= 1O
Solution: (_( (1 In Ql lL
3. The length of a pool is three meters more than twice its width. If the perimeter of the
pool is 36 meters, find the dimensions of the pool.
f = ini 1ol Hn
Define your variables: ~ _{ Lot W= W LGUT YD
Set up your equation: i A < B awta =30 =QWt3
Lf_.;[y\:-! g} | S VER :}\\u'\J % .c;(."i\__.‘«d' 2)= Ao 1 (545
_‘% . I 9\‘ LE \,' ,f’ 4 = | ,-": -S
D= | v (v =3 =13
Solution: __\\| '::-{'I": N.D ety s Longtn, |'H mMexans




Mr. Chesbro has one solution that is 25% acid and a second that is 50% acid. How many
liters of each solution should be mixed together to get 10 liters of a solution that is 40%

acid?

Define your variables: Y= Qv 0 o L = Qo Ot 5D
Set up your equation: & [~ [0 _
LM 15N -5\ -350 A5V __‘." ‘fll; HO )
T 6 Y j N ¥ !../
/ .'I‘_/
Solution: L

Mrs. Wescoe wants to buy a mixture of candy from a candy store. Jelly Belly jelly beans
are worth $2.45 per pound and Starburst candies are worth $2.30 per pound. How much
of each kind of candy should be mixed to create a 30-pound mixture worth $2.35 per

pound?

Define your variables: JAL] pOan \}* 1D O SIaynusS
. ; = :
Set up your equation: X ‘-E{ 20
| - ]' f‘)"," b _,\l-: _Q'. 'i.‘ _*J‘ 5 _,__!:. .J"::_ 5\)
1 —
{"{ \ - \.’ -
Y 1 I('r " _, " I | \
L4330 =705
Y =15 iy, 1 - |
/- 1D Solution: b U sl XU IV (8 01 NTOY pists

At a Lady Gaga concert, long-sleeve and short-sleeve t-shirts can be purchased. A long-
sleeve t-shirt costs $25 and a short-sleeve t-shirt costs $15. During a concert, the t-
shirt vendors collected $8,415 from the sale of 441 t-shirts. How many short-sleeve t-

shirts were sold at that concert?

Define your variables: NP0t W \eeve r
Set up your equation: Xty = Yo |-
: 5y =[50 |=-biols ) {—d 1
DY 54 = fyie N4z yy |
X=1& y =30}
Solution: 0\ PO - SHCVE  of (1




7. Montgomery UMS is selling tickets to a choral performance. On the first day of tickef
sales, the school sold 3 senior citizen tickets and 1 child ticket for a total of $38. The
school took in $52 on the second day by selling 3 senior citizen tickets and 2 child

G tickets. Find the price of a senior citizen ticket and the price of a child ticket.

Define your variables: X Li (o AX l H; O '\_“UL’ 11

Y Set up your equation: "1 D% TN = "'f‘fz_
X+ = 2 ~bx-ay=1U ) ';( ) ! ple!
Y = - o D) il
X= ¢ \[ 2 Y
/
V - ' A TA
solution: SCNOY —$&  chwld = $1y
8. Mr. Reed invested $500 into two different savings account. He put some money into
Bank of America, earning a 7% interest rate, and he put the rest into Wachovia, earning a
10% interest rate. How much money did he put into each bank, if he made a total of
$45.50 in interest?
Define your variables: Y= [lnl () = \_'.'?i A fl - Gt W Wt
S Set up your equa’rlon YA L = 200
z S e _I_‘:- ; 3 (?{,L O "' : !f‘f(
| /)‘-'F 1050 i 250 O
/ =5 B Xz 150
X o i 2y A () Ry . VN ' D—."\" 1 AV LTI
So|u1'|on'.\H“J 20 1IN oL O ANEN (G kl{l YU WY YNGNGNITU
g Amy invests a part of $8000 in bonds paying 12% interest. The remainder is in a savings
account paying 8% interest. If she receives a total of $840 in interest for one year, how
much does she have in each account?
Define your variables: | Y=ot WO oy !-_, alo \;’ i Wy W) Wil J (jow
Set up your equation: X 4 \ re .
SN +4- KU - § Y- € = - (oD e 08 Y =0
L = 30000 00t = §00U
vl Y. 5899, \/= 2200

%-r'_‘ ~\ - | T R~y ) T T
Solution: = JJJ WA - Y3 S B A [ SAvy \@%._)

&
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Neha pter 7: Putti ng It ALL Together
7

"

IS e

~loySTEMS OF [EQUATIONS |
_L;‘Mgﬁgay&ﬂ;gmibgtﬂ@_@hﬁe__@j o

PR

e 3 wWays ']:Q_SOIV@: | o

_Z_S_U_b *_IS_'_f’_lfg_f jon. (7. 2)__ ___________ L o Lo
3. Elimination (7.3and. 74)
~There are 3 possr’ble solutions ® (7.5) |

k i. One solution (an ordered iDaf.P‘_)

* ntersecting Lin es!
..f_jﬁi_sﬂ..!'_iﬂ.ib_i-_Q.D._[_)’;_O_Cdﬁ_Ct‘iQ’._ air ...

" that_makes both_e: vations trvé.
raic sta f.cme_nf)_._..

g o e s
= -

2. No Solution (a false algeb
¥ Parallel Lines!(same _m, different b) ...

| equations UL . I

_W \ 3, |nfinite. Solutions (o true algebraic s tafemert |
T % Coinciding Lfﬂei!_....ﬁi@m_m#ﬁ_&m;;iol_ﬂ_f &,
| *nfinite_points wil { sotisfy_both

“"']Tﬂ"‘ o 2qUAHIONS e
— *The ‘ecguawLLOns_gm___e_ggy__iygl;cin__ﬁvl_e_ﬁ -

- written in__different forms.

« No _ordered pair will make _both . i



SNSTEMS of |INEQUALITIES |(7.6)

*r TWO Or_ more /‘ne(%ua!iﬂes +hat we

Solve at once.
-There IS ONE wWay 1o solve—(}raph/'ng.‘

. This IS O _meticulous process-graphn each

inequality independent(y. Shade one .
at o timel (Shade i+ ! watch on youﬁbe]

- There are 2. Possible Outcomes’

|.Safution = the overlap of shading

(+he intersection of half ,D/af’?esj |

2 NoSolution-there is no everlap.

.nhat do the ordered pairs mean?
A _point in the overlap satisfies =

ALL_Ineg valities.

@
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, 7.vx+6y=—i7' 8.

Copyright © by McDougal Littell, a division of H_nughmn Mifflin Company.

CHAPTER
For use after Chapter 7 .

Solve the linear system by graphmg o

2. x-y=6 ‘} L"
T = -

4x 2}’_ g 8‘| \J I}\'g 4

Chapter Test C

1. 3x+5y=—18yn ﬂ
4x+2y o —10. \; Ay ¢
. ] E
3 1
=5 =3 \[-1 x
B
3\‘&
\] B>
) -ar_\‘ T
=R ~, "
z gl 4le. T 4
3. ?x—t—iy —]——54 \sf\
| 7 —sX r -
éJc+y'= 3 - -
27 = s N
Nz zxd LT
i a ur my
. .
: ').,'-"_"_")‘"il =\ . iz
| ¥

Solve the linear system using substitution.
4. 3x—2=6

4y = —8

04x+05y=—11 ' 2

5. 4x+3y=11
3x;y

- :

1t
3""3?"1

a4
Yo/
-1 x
1
a Vi
o /
uff
i
/¥

6. 4x+ 5y =18
S 3x~9y=-12

9 4x+ %y =

. wajoo

1 3 5
FTPT T2

© 10. A restaurant owner wants to add imitation maple syrup that costs

$4.00 per liter to 50 liters of pure maplé syrup.that costs $9.50 per.
- liter. How many liters of imitation maple syrup should be added to
make a mixture that costs $5.00 per liter? ,

' Sollve-_the linear system using elimination. _

3x—4y=38

Answers ' / <

T (!.I‘lli\{“ \',F.. i\.\ 1-.'{. i 1q ('—1 1‘ ] 2 )

: See left.

= ) Ly . ( —.-' i .

S 1\1‘ WU UII ] () 'I_'*A]
‘See left.

ﬁf &k\\lw\

See left.’

), 0 )

oo - o

H0Q[ L. ives
10. 9.0} ( |1urt

-.'11 (% 3)

1. 3x—6y=6 - 12: 4x+3y=4 = 13.
9x — 3y =8  8x+6y=38 Sx+3y=-6"
14..‘ 5y+2:;‘=5x+1-l.15. Sx—-‘2y=8x—1 16. %3}4%y=-1
3x—-2y=3+3y 2.x+-’?y=4y+9, 3 %9
, : §x+'3-y=5

"'1 y ) Flymg with the wind, a pilot travels 600 n:ulcs between two cities in

four hours. The return trip into the wind takes five hours. The speed |
of the wind remains constant during the trip. Find the average speed
of the planc w11:h no wind and thé speed of the wind.

L

2 LM

13. { O,7X )
- |'I/‘.

.:I_

( )1 3)
53)

17. l;}'({ I'l'\-.{_ : ,..J,_ z '. 4 \ : \i'
I_ H B
.I ".].-'l AARY

& 14-
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CHAPTER Chapter Test G cortiued _ |

|

IF i

Uy

j i 1 For use after Chapter?
E :

—]

: Ilﬂ _ W;thout solvmg the linear system, tell whether the linear - Answers,_

- u .- system has one so!ut.'on, no sofut:on, or mﬁmtely many I 3. | X\ ™

. .I[ - solutions. > ; e ‘ — .
sl ' i ¥ o o - I\

: !é 18. 12x—16y=8  19. 04x+ 0.5y =02 20. 0.2; —06y=06" 19. WX :-iwl_(.l‘l 1QV)
1 4 I —4y'=2 03x-0ly=11  04x—12y=24 :'w D |

" - Write a system of linear inequalities for the shaded region. . ar. N >[ :

21. STTTT T4 . 22 e R i
oo T g AR T NEE

b 7" A

' :r U 22. \_JI_ 3 et

L 3 X ;

i |' : 7 3 } e /L‘y “/’

Ll . WY _;_ i IS L=
g N iR ENNEE 23.2 Xl £I5
I In Exerclses 23-25, use the followmg mformatmn. _ _, i 'x)[’ )
I“ 2 A bakery sells cookies and cakes. The table shows the time that it takes’ to *
il . bake and decorate each batch of cookies and each batch of cakes, and the

_f ’ - time the bakery can devote to baking and decorating cookies and cakes. -

i 7 '

I

5-_}1 (194 H ..'f']r,n% ;

N

S

Z
8
8
I
' (12) =
=1
% 23 Wntc and graph a system y, .‘é
i of linear inequalities for .8 =
o L —
i the number x of batches g7 - =
i of cookies and the number g 6 \‘-._ é
il - ‘ y of batches of cakes that 5 51 =
g - g 4% -
| the bgkery can mfa.ke under 2 . NT 3
] the given constraints. T N E
: v @ 2 S =
'.: 1E - =2
! o LU | =
: c : 0 4 8121620+* =
E . . S " Batches g
il : ' ' of cookies =
1} I =
=2

=

s

24, Find the vertices (comer points) of the graph

i ~ 25. The bakery makes a profit of $20 for each batch of cookies and $30 . -
M for each batch of cakes. The profit P is given by the equation . . '
& P = 20x + 30y. Find the profit for each ordered pair in Exerc:se 24,

: Which vertex results in the maximum proﬁt'?

N4
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@ 2y -af=l XAl 3x-Ry=b
Ak A S Nl -6 (;1_,@
R =0 -yl \2
<A aea
X:-g' “8).\1 3
3 y=-9
E) Li-%f-%/rl\ Tdy= 1\
3v-y-5
=5 —2 H-5=Y HxA3x- )=l 5(0«/ =5 (g) D
Lb(JrCh( '5 | o-Y=5
S 30
=0l
\(46\{ ~ Yyeey=1¢ LN*SHH?
\:> 5§( q\’[ / W\ - ?)/\/_,1, = Y- 5/ 4 4z {D*S‘/
- ’o\\l Iw+6\} |1§
& /-. i
Q@@ E 51@“ N ’?B\+
(= v°
5( = ok
D LAy = Il ;) X=—by-V1 LN*‘SK/ X= o\
\17(0\\1*05\1 | 4(-y - 17)46\1141 X=-(p(-3)-1]
N gﬁ{ ’&H\}-—[o?+5\/:—l1 W=l gl
qay =51 X (1,-3)
)y Ly <) S Y=gyt VN \=
| g
1y 4y i (594037 :
22\



) s Ly 8 1
K_D [’b\J’ 5\/"3 L{\(JLBY:% « XC '%\/—5'
=2

o i ! : P £
dla¥egy="3) YEDIIS gs
\ 4 {ﬁ/ H—= Xs %Y—B 20y -30+ 31 ~% X=(p~5
A‘K\}‘@OJFY:S X~ | ([ ,11L> -
,\7\[,_ wg /
. \}-: "L}
LED NC amt O{ imcfation :
/ — Oy J. W.rc, HOGH L0£ ilﬁmm
| | Q.01 L of pure
( £y = BD > K=507 WHASy=a5p - ¥ =S0
o+ 4.5y =50(5)- 480N +9.5\/-d50 v 90q- 50
Li' 4(]1 J- C}OO'L}'\j.{,qu\/ o050 )(__L,Oq’
e / - 20 400 +5.5y = 30
55/- 60
t{‘_ls% V=909

D, A o
=3 )(-?)V: E’) lﬁ_)(*[p\lf*]\ﬂ ’5(%>.L0\{:(0 (@_\@)
3\ 3

'IS% = —#)O ia-—to\’-: V2
Xf% _uxqzq'a
\l:"‘g

@a@lwsvfbﬂ g X-loy =8
il Goinct

2 Jz X
NNV WE SR e S L
@3%\]\5@%{ : -823 YRz 9 201 ?a C >
L =0 ¥

¥=0



M) 5y<a=SH -3%45\
S-ay=3 3y NS ’*3 W

</
@5‘/\—&\/"%%\ 2 (3>< “Ay=-] ) -W-q\;f—a
R VRV P Y TR N At
54=35
a\/ig\l 4 \I:B
v+ ¥5Y-Y
&%*\S’q 329
% ="
IERSER ) &(W’CD"*[& & 5
N -\ GBVH \D\\"]@ \2 K- \0\{"30 -9\ 15
E 05 20515
-/ (6()) Yz 5 _6\[__ -5
V-3
Q (ith wind < aqowu# 10 Y (OtC Of le
“ O \=ratt of wind
f‘DO  (4) e (_))
[50=(C \NO= {

/44 =150 Y +=150 p\m:% i [

-y 130 l’l6*§// ‘[;D Nind: 15 o b
X 7 8\
=125
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\

ALK EAVERR
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p 00 )+ (o) P- a@(\by% 0
0 =200

LIk Y X +0DY oa> L\\H%\/
\ EYENE
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0 D
3 Lwa‘é\) & /%w/ I e
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X5 Y=o
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ol ) TR - [0 Syution)
H-@ i
3 3("'(\\"{0:(.. ik
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.~ Algebra Practice Problems Date:
o TSt ReVIEW
LheT RS RE Worksheet generated at www.math.com
L) —x+4¥1=4 X"\}'H ( 3 2.) +2x-:-55y 2331 ——Ir'/i \/ dg
X+y= ! - 2X =31 == ) = 5.
6\{(6 7‘\;% i 8‘—)) -X=8 TSy - (‘@ %>
=3 B | o Sy-15
y=3
, |
3) —3—3):_134): =36 2\ -4 - {g 4) 24}{_521224 af'a\li(o
B ) B L C) = ==l Aley-ays
Ty=3% ’ 3y -1o= g [&d(\ 0X=30 i.)? }/ _. (6(33
' \1_‘ I_’ ;‘1 O)L ‘ X=5 TV !
\(= \i za

" ¥4 3= 37

5) —4xF3y =40 Yyusy-tfp 6) (-3x+3y=27) |1a%- 'a“/ -10g WS
Jx+3y =44 qfd)*S\/LLD ok =2 18;[; =08 j) »;j 3

X =4 rw 34 (L} 8) _ X;H-C)(D . 3y=15

(48) Vs,

7.3 2% - 5y =-38) ~y+/5 MLL M-SN\=3f 8) Bx+2y=-35) -loX-t/: r”) HX =35
)ﬁxx"ryy—-48 ) _(cvll_}" ug av- %(fz) 12x+4y=—103 QY 44/~ - 100 Zghay=-3H
TONE W av-30e % Lo><~'30 15¢a = - 35

7, g_’l.’ \Jzlo- Ay B . b o ,Q\f:'r)'__
() =4 (5-a9) §=-35

10,)4(_4)( +3y= 9) 1o X+ QA{ =3 L4 3\/; q

0) +2xFy=421 y_|- _ |
AX~ l 2 -16x-4y=20 -leX~-4y=80  UYys3(7)=9

y ’ - ._.> \/:."} ‘1‘)(‘—!3
(_ 5\ } X=-3
11y (-x+5y = 43). 6‘14»45\/ A15 5¥y-1q 12)4(4x-2y=-6) EX-Yy=-13 Gy-ay=lo
5x+y=19 bYty =19 5%+Q=(q Ix+d4y=12 Py =13 yroy-ay:
y Aoy =d? L} );(,fcli-:) [ - “'7{:’_8 J/f 5w
29) y=a X [0.3) ¥

13)-2x44y=412 dy-4y=-13 _ 14) 4x+y=24 (V=0 /
Sx-4y=18  3(w)- L\J Ve (]O| X) —4x 42y =12 Yy u- dk-l 6‘ 4_,)
5X=7%0 B0 4y - 3y-1a Yy =20

ero' "\}l : =t KW



15) x-2y=-11  X-dy=-|l 16.) y=3x+32 y:gww
-§x+2y=-17 A g\{ H 4x=-44+2y \ = JHo)+>a
1,79 G- | 8(zv+33) = \
= 7] \/ ‘3/:4_) “95‘“"‘94 !); rd)\ C’D‘O}>
X=-10 '
17) x=-5y-45 5y-Uo=hy+35 X=3Y¥3% 18) x=y+
3 y+11  y- gl
x=3y+35 20=9Y Y= 31y +%5 X - Sy 43 i ’;L“ [
. ) 7 X= 30425 YHli=5Y =4 gl i"}l"[:
/ - ‘C‘ \{ 50‘5 uy= =2 /
((05,10) X=(5 Ji,f’-g it
19) x=-3y+10 5-3/+0)*+5y=40 20) 5 = ;
) Sy+2x=-16 Sytav--I¢
S5x + = 4 Lo L, - - -
x + 5y =40 '151\}} G,O,,:I,_.If y=-x-8 5(-x-§) 4 ay =l
VERERTE(Y il AR ~SX-fo+ax =1
y= I a4 X=-¥
% Y=- -(-$)-&
@
n AD k(60




